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B | X=E |§# iES HEE  |mEDSSE [l ol |EE A5 KM P FF0 FHE Ak b
1] 1 NNE| 3 WNW| 2 El 1 NE| 1 ESE| 1 NE| 4 NW| 3 SSE c| 1 N| 5 S| 1 S| 1 ENE NNW| 2 Sw
2l 1 NE| 3 WNW| 1 E C SSE| 2 NE| 2 Nw| 2 SSE C c|l 7 S| 2 SSE| 1 NE NNW|[ 1 Ssw
3] 1 NE| 2 Nw| 1 ENE c| 1 E| 1 NE| 1 w| 4 S| 1 SE[ 1 N| 10 S| 3 SSE| 1 SE cl 2 sw
4 cl 2 WNW| 1 ENE c| 1 2 ENE c| 3 SSE[ 1 SSE[ 1 N| 10 S| 3 SSE| 1 ESE cl 1 sw
5, 1 NE| 2 W c|l 1 ESE[ 1 E| 2 S| 2 N| 3 SSE| 1 SSE| 1 Ssw| 9 S| 2 SSE[ 1 NE c|l 3 S
6/ 1 NE| 1 NW| 1 NNE cl 2 ESE| 2 S| 1 N| 4 S| 1 S| 1 sSw|12 SSE| 3 SSE| 2 N| 1 NNW| 2 SSE
7 cl 1 NNW| 1 ESE| 2 Ww| 3 SSE| 3 S| 2 NNW| 3 SSE| 1 SSE| 2 wSw[ 13 SSE| 2 SSE| 2 NNE WNW| 3 SSw
8| 2 wWSw| 1 WNW| 1 ESE[ 1 WNW| 1 wl 2 S| 1 wsw| 2 SE| 1 ESE| 1 S| 11 S| 3 SSE| 2 S NNW| 3 SE
9 cl 1 Nw| 1 E| 1 NNW[ 3  w| 1 wsw| 3 ssw| 2 S| 1 SE[ 1 ssw|12 S| 4 SSE| 2 S Nw| 3 S
10 N Wl 2 NNE[ 1 E ENE[ 1 NE[ 2 N| 2 S| 1 wsw| 1 sse[16 SSe| 4 ssel 1 SE[ 1 ESE[ 2 SSE
11l 2 ENE| 2 ENE| 2 NE| 2 ENE ¢l 1 NNE| 4 NNE| 1 sw| 1 S| 2 NNw| 13 S| 6 SE[ 5 sSSel] 2 ESE[ 4 SsE
12| 3 ENE| 4 E|] 3 NE| 1 El 1 NE| 3 NNE| 8 Nl 5 NE| 1 S| 4 NNE[ 4 NNE| 5 E| 7 SE| 3 E| 8 S
13] 3 ENE| 3 ENE| 2 NE[ 1 ENE| 1 ENE| 3 N| 9 N| 6 NNE| 1 Nw| 3 WNW| 6 N| 5 NNW| 12 SW| 4 WNW|[ 11 wsw
14| 1 ENE| 2 WNW| 4 N| 1 WNW| 3 E| 5 NNW/ 10 Nw|[ 2 NNW| 3 Nw| 1 Nw| 8 NNW| 5 Nw| 8 W] 5 W[ 7 WNW
15 2 wsw| 2 wsw| 1 SSE[ 2 sw| 2 WNW| 2 Sw| 4 SSw| 5 Sw| 2 WNW| 1 WSW| 6 NNW| 5 WNW| 5 W| 5 W[ 4 WNW
16/ 3 WSw| 4 WNw| 4 sw| 4 w| 2 Nw| 3 w| 7 sSw| 3 sw| 3 wsw| 5 wsw| 3 Nl 4 Nw| 2 SSW| 3 WNwW|[ 3 w
17] 4 WSW| 4 wsw| 7 ssw| 3 wsw| 3 3 WSW| 6 SSW| 3 sw| 2 wsw| 1 S| 2 Nl 2 Nw| 1 NE| 1 WNW[ 3 w
18] 3 WSW| 3 WSW| 6 SSW| 2 wsw| 1 E| 2 SSW| 5 sSsw| 1 S| 2 wnw|[ 1 NNE[ 3 NNE[ 2wl 2 NNwW[ 2 w| 2 wsw
19

20

21

22
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24

Eyl 2 2 2 1 1 2 4 3 1 2 8 3 3 2 4

HEX| 4 wWsw| 4 E| 7 SSw| 4 w| 3 SSE| 5 NNW/ 10 Nw| 6 NNE| 3 Nw| 5 wSw| 16 SSE| 6 SE[12 sw| 5 w| 11 WSwW

ACHE | 176 120% 176 1655 s 145 1455 130 1455 160 108 116 130 1455 130




